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Grade 4
Logical thinking (7w duy Logic)

1. According to the pattern below, find the next term in the sequence.

Duea vdo quy ludt dudi ddy, fim s6 tiép theo & trong day.

3,12, 24, 39, 57,...

A.75
B. 76
C.77
D. 78
Key: D

2. A farmer had some trees in his garden. In spring, he planted 12 more trees. In summer, 17
trees were broken due to a heavy storm. In fall, he continued to plant 10 more trees but in
winter, he had to cut down 25 trees for wood. Finally, there are 40 trees in his garden. How
many trees did he have in the beginning of the year?

M0t nguoi néng dan cé mét sé cdy trong vieon. Vao miia xudn, ong trong thém 12 cdy nira.
Vao mua hé, 17 cdy bi gdy dé vi bdo. Vao mia thu, 6ng dy tiép tuc trong thém 10 cdy nita
nhing vao mia déng, éng phdi chdt 25 cdy dé ldy cii. Cudi cung, éng con lai 40 cdy trong
vieon. Hoi dng ¢é tdt cd bao nhiéu cdy vao dau ndam doé?

A. 20
B. 54
C. 26
D. 60
Key: D

3. Given a row of houses with a pattern as below. All houses are marked by consecutive
numbers starting from 1. Which does the 68th house look like?

Cho mét déy nha c¢é quy ludt nhw dudi day. Cac ngdi nha dwoc danh s6 lién tiép bat dau tir
1. Hoi ngoi nha thu 68 trong nhu thé nao?
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4. 20th September is Saturday. Which day of the week is 15th October in the same year?
Ngay 20 théng 9 la thir Bay. Hoi ngay 15 thang 10 ciing ndam la thir mdy?

A. Friday / Thtr Sau

B. Wednesday / Thir Tu

C. Tuesday / Thur Ba
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D. Thursday / Thir Nam
Key: B

5. Mother prepared 40 envelopes including red and blue envelopes. Each red envelope
contains $5 and each blue envelope contains $3. The total amount of money inside the
envelopes is $180. How many red envelopes are there?

Me chudn bi 40 bao [i xi gom phong bao mau dé va phong bao mau xanh. Méi phong bao
mau dé c6 5 dé-la va méi phong bao mau xanh ¢é 3 dé-la. Tong sé tién bén trong cdc bao i
xi la 180 do-la. Hoi co bao nhiéu phong bao mau do?

A. 10

B. 4

C.30

D. 12

Key: C

Arithmetic (S6 hoc)
6.

Calculate 15x29 -15x16+37x15.
Tinh 15x29 -1bx16+37 x 15.

A. 1230
B. 150
C. 750
D. 420
Key: C
7.

Calculate 90 +1+90+3+90+6.
Tinh 90+1+90+3+90+6.
A.9
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B. 135
C.25
D. 120
Key: B
8.

Find the valueof 3+6+9+12+...4+87+90.
Tim gia tri cua 3+6+9+12+ ...+ 87 +90.

A. 2790

B. 1345

C. 2697

D. 1395

Key: D

9.

Find the value of 50—-46+42 -38+...+10—-6+2 .
Tim gid tri cua 50—46+42-38+...+10-6+2.

A. 48
B. 24
C. 26
D. 50
Key: C

10. Given the addition below where each digit has been replaced by a shape. Different digits
are replaced by different shapes. Which digit does the triangle represent?

Cho phép tinh cong duéi ddy biét rang méi chir s6 dwoc thay thé béi mét hinh vé. Céc chir
50 khac nhau duwoc thay thé boi cac hinh vé khac nhau. Hoi hinh tam giac biéu dién chir so
nao?
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A.2

B.3

C.8

D.9

Key: A

Number theory (Ly thuyét sé')

This section includes the 11th question to the 15th question. Each carries 4 points.
Phan nay bao gom twr cau 11 dén cau 15. Moi cau 4 diem.

11.
Define the operation symbol anb = (4xa+b)—(1+2xD). Find the value of 608.
Dinh nghia ki hiéu phép toan sau aob = (dxa+b)—(1+2xb). Tim gid tri cua 608,
A. 14
B. 15
C.8
D. 19
Key: B
12. Find the smallest 4-digit number that can be divisible by 9 but not divisible by 2.
Tim s6 nhé nhdt c6 4 chit sé chia hét cho 9 nhung khéng chia hét cho 2.

A. 1008
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B. 1009
C. 1035
D. 1017
Key: D

13. A school donates 90 books including Math books and English books. The number of
Math books is 5 times the number of English books. How many English books are donated?

Mot tru”o‘ng hgc q’uyén gop 90 qqyé,n sdch gom sach Todn va sdgh tiéng A’nh. S6 lirong sdch
Todn gap 5 lan so luong sach tiéng Anh. Hoi co bao nhiéu quyén sdch tieng Anh duoc
quyén gop?

A. 15

B. 18

C.75

D. 72

Key: A

14.

If a 5-digit number 20258 is divisible by 15, find the value of X.
Biet 20258 la s6'co b chir s6'chia hét cho 15, tim gia tri cua X.

A.0
B.4
C.5
D.6
Key: A
15.

Find the last digit of 33 x33x 33 x...x33x 33 (33 numbers 33).
Tim chir s6'tan cung cua 33x33x33x...x 33x 33 (33 s6'33).

A.7
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B.3
C. 1
D.9
Key: B
Geometry (Hinh hoc)

This section includes the 16th question to the 20th question. Each carries 4 points.
Phan nay bao gom twr cau 16 dén cau 20. Moi cau 4 diém.

16. The area of a rectangle is 80 cm?. Given that the sides of the rectangle are natural
numbers in cm, what is its minimum value of perimeter?

Dién tich ciia mét hinh chir nhdt 1 80 cm?. Biét rcfng canh cia hinh chit nhdt la cdc so tu
nhién theo don vi cm, hoi chu vi nho nhat cua hinh chir nhdt la bao nhiéu?

A. 18 cm
B. 24 cm
C.36 cm
D. 48 cm
Key: C

17. Identical cubes are placed on top of each other to get the figure below. At least how
many cubes are there in the figure?

Nhitng hinh Idp phirong giong nhau dwoc xép chong 1én nhau dé dwoc hinh dwéi day. Hoi
hinh vé cé it nhat bao nhiéu hinh lgp phwong?
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A.33
B. 32
C.31
D. 30
Key: A

18. The perimeter of a square is 20 cm. Now Henry combines 16 such squares to get a big
square. What is the perimeter of the big square?

Chu vi cua mot hinh vuong la 20 cm. Henry ghép 16 hinh vuong nhu vay thanh mot hinh
vuong lon. Tinh chu vi cua hinh vuéng lon.

A. 160 cm

B. 80 cm

C. 320 cm

D. 400 cm

Key: B

19. How many rectangles containing the snowflake are there in the figure below?

Trong hinh duwdi ddy c6 bao nhiéu hinh chit nhdt chira bong tuyét?
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A. 38
B. 54
C. 56
D. 36
Key: D

20. Wendy draws and paints a star on a grid paper. Find the painted area in cm? given that
each square cell has the side length of 5 cm.

Wendy vé va to mau mot ngoz sao. trén gidy 6 li nhuw duwdi day. Tinh dién tich phan dwoc t6
mau theo don vi cm? biét rang moi 6 vudng cé canh dai 5 cm.
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A. 600 cm?
B. 440 cm?
C. 480 cm?
D. 550 cm?
Key: D

Combinatorics (7 ] hop)

21. In a box, there are 12 black masks, 9 blue masks and 10 white masks. At least how
many masks should Alice take out randomly to make sure that she gets 3 masks with
different colours?

Trong mot hép c6 12 chiéc khau trang mau den, 9 chiéc khau trang mau xanh va 10 chiéc
khau trang mau trang. Hoi Alice can lay ra ngdu nhién it nhat bao nhiéu chiéc khdu trang
dé chac chan cé dy lay dwoc 3 khdu trang khdac mau?

A. 20
B. 22
C.23
D. 31
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Key: C

22. How many 3-digit numbers with different digits and smaller than 135 are there?
Hoi ¢6 bao nhiéu sé c6 3 chir s6 khdc nhauvan — hé hon 135?

A. 19

B. 20

C.21

D. 22

Key: A

23. A flight of stairs has 12 steps. Miley can go up 1 step or 2 steps each time. The 4th and
8th steps cannot be stepped on as they are destroyed. How many ways are there for Miley to
go up the stairs?

Mét cau thang co 12 bdc. Méi lan buée, Miley co thé di lén 1 bac hodc 2 béc. Biét bdc thir
4 va bdc thir 8 bi hong nén khéng thé budc lén dwoc. Hoi Miley ¢6 bao nhiéu cach dé di hét
cau thang?

A. 12

B. 24

C. 30

D. 18

Key: D

24. How many 3-digit even numbers with all digits smaller than 6 are there?
Hoi ¢6 bao nhiéu sé chan c¢é 3 chiv s6 ma tdt cd cdc chit s6 déu nhé hon 6?
A. 90

B. 180

C.75

D. 120
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Key: A

25. In the game below, you must move the mouse pointer along the straight lines to reach
the flag. Given that the mouse pointer can only move up or move right, how many different
ways are there to finish the game?

Trong tro choi duéi ddy, ban phdi di chuyén con tré chudt doc theo cdc dwong thang dén vi
tri la co. Biét rang con tro chugt chi co thé di lén trén hoac sang phai, hoi co bao nhiéu
cach khdc nhau dé hoan thanh tro choi?

A. 50
B. 54
C. 56
D. 70
Key: B
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